Oumpot @ 37 L=200. Tpyba & 6 S=1 L=2000

LLlapoBbivi kpaH 1/2' HB

/'

Hunnens 1/2'

@8 S=1 L=20

Y

O

e e

CIH 4x4

A 2
/c’\
“‘nyTaHka”
R J 243 5=1,5
1800
Hunnens 1/2'
mj
..... RS At i IS S
08 S=1 |_=on -
A
=M= =
FISE=EE x
= == =l fyTaHka
= |[11= 1= 1l = i 3
=== CIH 4xd
" =TI
- —TM==
=== T I
ENZINN=INN=NF
=== =1
— — A
30
1500 = v
— T ="1MTr =171 ="1111
SE=E=EE
= == =4 “nytaHka’
SM=N=NERE!
=== ]
— =TM=1Ill
I EE=EE!
S S THEE
E= == 110
===
— D =— = 1 = |l =
y A
30
\ 4 4 A AR

DUTUHT Kera

@12 S=1

600

»
>H

A



